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 
 

 
 

    
  

(𝒅)  

 
 

(𝒓) ÷ 

 

𝟏𝟕 , 𝟏𝟐 , 𝟏𝟔 , 𝟐𝟎 , …. −𝟔 , 𝟑 , 𝟏𝟐 , 𝟐𝟏 , ….𝟖 , −𝟐 , −𝟏𝟐 , −𝟐𝟐 , ….
   



𝟏𝟖, 𝟏𝟏, 𝟒, …. 


𝟔, 𝟏𝟖, 𝟑𝟎, …. 


𝟏𝟓, 𝟔, −𝟑, …. 
  

 

 

 

 
 

𝟕, 𝟏𝟏, 𝟏𝟓, …. 

20

5
 

 
 
 
 
 

 

𝟏 , 𝟑 , 𝟕 , 𝟏𝟓 , …. 𝟒, 𝟏𝟐, 𝟑𝟔, 𝟏𝟎𝟖, … −𝟐𝟕, 𝟏𝟖, −𝟏𝟐, …

𝟐𝟓𝟎, 𝟓𝟎, 𝟏𝟎, … 𝟖𝟏, 𝟏𝟎𝟖, 𝟏𝟒𝟒 …. 
−𝟒𝟗, −𝟑𝟕, −𝟐𝟓, −𝟏𝟑, …

𝟒, 𝟗, 𝟏𝟔, 𝟐𝟓, 𝟑𝟔, …
𝟐𝟎𝟎, −𝟏𝟎𝟎, 𝟓𝟎, −𝟐𝟓, … 

 

1𝟖, 𝟔,
𝟗

𝟐
,

𝟐𝟕

𝟖
, … 

A 𝟏𝟏

𝟖
B 

𝟐𝟕

𝟏𝟔

C𝟗

𝟒
D𝟖𝟏

𝟑𝟐

2𝟏𝟎, 𝟏𝟑, 𝟏𝟔, …

A( 𝟏𝟗, 𝟐𝟐, 𝟐𝟓, 𝟐𝟖B𝟏𝟕, 𝟏𝟖, 𝟏𝟗, 𝟐𝟎 
C𝟏𝟗, 𝟐𝟏, 𝟐𝟒, 𝟐𝟕D𝟐𝟎, 𝟐𝟓, 𝟑𝟎, 𝟑𝟓 

3𝟏𝟐, 𝟑𝟔, 𝟏𝟎𝟖, 𝟑𝟐𝟒, ..

A2B3 
C4D5 

4𝟏𝟐, 𝟏𝟔, 𝟐𝟎, 𝟐𝟒, ..

A2B3 
C4D5

 
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2-6

ቀ𝒅 =  , 𝒏 =     , 𝒂𝟏 =   , 𝒂𝒏 =   ቁ

𝒅 = 𝒂𝒏ା𝟏 − 𝒂𝒏𝒂𝒏 = 𝒂𝟏 + (𝒏 − 𝟏)𝒅

ቀ𝒅 =  , 𝒏 =     , 𝒂𝟏 =   , 𝒂𝒏 =   ቁ

 
𝑺𝒏 = 𝒏(

𝒂𝟏 + 𝒂𝒏

𝟐
)𝑺𝒏 =

𝒏

𝟐
[𝟐𝒂𝟏 + (𝒏 − 𝟏)𝒅]

𝒅 = 𝟒 , 𝒂𝟏 = 𝟏𝟓

𝒂𝒏

𝒂𝟏 = −𝟏𝟖 , 𝒅 = 𝟏𝟐, 𝒏 = 𝟏𝟔

𝒂𝟏𝟖

𝟏𝟐, 𝟐𝟓, 𝟑𝟖, … 

𝟏𝟐, 𝟑, −𝟔, … 𝒂𝟔 = 𝟏𝟐 , 𝒅 = 𝟖𝟗, 𝟐, −𝟓, … 

−𝟒, 𝟖𝟏𝟕, … . , … , … . , 𝟒𝟏

𝑺𝒏

𝒂𝟏 = 𝟏𝟒, 𝒂𝒏 = 𝟏𝟎𝟏, 𝒏 = 𝟑𝟎 𝒂𝟏 = 𝟖, 𝒂𝒏 = 𝟏𝟎𝟎, 𝑺𝒏 = 𝟏𝟐𝟗𝟔

∑ (𝟑𝒌 + 𝟒)𝟏𝟖
𝒌ୀ𝟏

1∑ (𝟓𝒎 + 𝟔)𝟐𝟏
𝒎ୀ𝟗2∑ (𝟑𝒌 + 𝟗)𝟏𝟐

𝑲ୀ𝟏

A972B1053C1281D1701 A45B78C342D410
3𝒅 = 𝟒 , 𝒂𝟏 = 𝟓 4𝑺𝒏

𝒂𝟏 = 𝟑𝟕, 𝒅 = −𝟑, 𝒏 = 𝟏𝟏 
A37B44C41D20 A45B235C242D572

5𝟐𝟒, 𝟗 6−𝟕, −𝟐, 𝟑, 𝟖, …

A12,6B19,14C14,5D19,6 A𝒂𝒏 = 𝒏 + 𝟓B𝒂𝒏 = 𝟓𝒏 − 𝟏𝟐

C𝒂𝒏 = −𝟕𝒏 + 𝟏𝟐D𝒂𝒏 = −𝟕(𝒏 + 𝟓)

𝒂𝟗   علما بأن𝒂𝟏 =  −𝟒 , 𝒅 = 𝟔  

 

 



٣ 
 

3-6

ቀ𝒓 =  , 𝒏 =     , 𝒂𝟏 =   , 𝒂𝒏 =   ቁ

𝒓 = 𝒂𝒏ା𝟏 ÷ 𝒂𝒏𝒂𝒏 = 𝒂𝟏 ∙ (𝒓𝒏ି𝟏)

ቀ𝒓 =  , 𝒏 =     , 𝒂𝟏 =   , 𝒂𝒏 =   ቁ

𝒓 ≠ 𝟎 
𝑺𝒏 =

𝒂𝟏 − 𝒂𝟏𝒓𝒏

𝟏 − 𝒓
𝑺𝒏 =

𝒂𝟏 − 𝒂𝒏𝒓

𝟏 − 𝒓

𝒂𝟏 = −𝟏𝟎, 𝒓 = 𝟒, 𝒏 = 𝟐

𝒂𝒏

𝒂𝟑 = 𝟗, 𝒓 = −𝟑, 𝒏 = 𝟕𝒂𝟏 = −𝟑, 𝒓 = −𝟐

𝒂𝟑 = 𝟏𝟔 , 𝒓 = 𝟒𝟐, 𝟒, 𝟖, … 𝟏𝟐, 𝟑𝟔, 𝟏𝟎𝟖, 𝟑𝟐𝟒, … 

𝟎. 𝟐𝟓 , 𝟔𝟒 𝟏𝟔, −𝟐 

𝑺𝒏

𝒂𝟏 = 𝟐, 𝒏 = 𝟏𝟎, 𝒓 = 𝟑

𝒂𝟏

𝒓 =
𝟑

𝟐
, 𝒂𝒏 = 𝟒𝟖𝟔, 𝑺𝒏 = 𝟏𝟑𝟑𝟎

∑ 𝟒(−𝟑)𝒌ି𝟏𝟕
𝒌ୀ𝟏

𝟏𝟎𝟎 𝒇𝒕𝟓𝟎%

5

1𝒂𝟏 = 𝟓, 𝒓 = 𝟐2∑ 𝟑 ∙ 𝟐𝒏ି𝟏𝟒
𝒏ୀ𝟏

A320B160C15D6250 A80B-80C45D-45

3𝑺𝒏

𝒂𝟏 = 𝟕 , 𝒏 = 𝟒 , 𝒓 = 𝟑

4𝒂𝟏

𝑺𝒏 = −𝟕𝟐𝟖, 𝒓 = 𝟑, 𝒏 = 𝟔

A91B280C147D189 A-2B1456C-4D4

5𝟑, 𝟗, 𝟐𝟕, … 6
𝒂𝟏 = 𝟔 , 𝒂𝒏 = 𝟗𝟔 , 𝒓 = 𝟐

A𝒂𝒏 = 𝟑𝒏B𝒂𝒏 = 𝟐𝒏ା𝟏

C𝒂𝒏 = 𝟐𝒏D𝒂𝒏 = 𝟑𝒏ା𝟐

A𝟏𝟕𝟒B𝟏𝟖𝟎C186D192  

 
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−𝟏 < 𝒓 < 𝟏

𝑺 =
𝒂𝟏

𝟏ି𝒓

|𝒓| ≥ 𝟏

𝟐 + 𝟑 + 𝟒. 𝟓 + ⋯ 𝟏𝟎𝟎 + 𝟓𝟎 + 𝟐𝟓 + ⋯𝟏 + 𝟏 + 𝟏 + ⋯

𝟏𝟔 + 𝟐𝟎 + 𝟐𝟓 + ⋯𝟒𝟒𝟎 + 𝟐𝟐𝟎 + 𝟏𝟏𝟎 + ⋯ 𝟓 + 𝟏𝟎 + 𝟐𝟎 + ⋯

 

  

𝒂𝟏 = 𝟏 , 𝒓 =
𝟏

𝟐
𝒂𝟏 = 𝟓 , 𝒓 = −

𝟐

𝟓
 

𝒂𝟏 = 𝟖 , 𝒓 = 𝟐

 

  

 

෍ 𝟓 ∙ 𝟒𝒌ି𝟏

ஶ

𝒌ୀ𝟏

෍(−𝟐) ∙ (𝟎. 𝟓)𝒌ି𝟏

ஶ

𝒌ୀ𝟏

 ෍ 𝟓𝟎 ∙ ൬
𝟒

𝟓
൰

𝒏ି𝟏ஶ

𝒏ୀ𝟏

 

 

  

 

𝟎. 𝟐𝟏തതതത 𝟎. 𝟑𝟓തതതത 𝟎. 𝟔𝟒𝟐തതതതതത 𝟎. 𝟑ഥ 𝟎. 𝟗𝟗𝟎തതതതതത

 
    

1𝟏𝟐 + 𝟔 + 𝟑 + ⋯2𝟎. 𝟒𝟖തതതത

A24B8C27DA𝟏

𝟒𝟖
B𝟏𝟔

𝟑
C𝟏𝟐

𝟐𝟓
D𝟏𝟔

𝟑𝟑

3𝒂𝟏 = 𝟒 , 𝒓 =
𝟏

𝟐4∑ 𝟏𝟓 ∙ ቀ
𝟐

𝟓
ቁ

𝒌ି𝟏
ஶ
𝒌ୀ𝟏

A6B8C5DA20B25C32D 

5𝟎. 𝟒ഥ6𝟐 + 𝟔 + 𝟏𝟖 + ⋯

A𝟏

𝟒
B𝟒

𝟑
C𝟐

𝟓
D𝟒

𝟗
A2B8C6D

 
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(𝒄 + 𝒅)𝟓

(𝒙 + 𝒚)𝟏𝟎

(𝟑𝒙 + 𝟐𝒚)𝟓

(𝒄 + 𝒅)𝟏𝟎(𝟓𝒙 + 𝒚)𝟓

(𝟑𝒙 − 𝒚)𝟕(𝒃 + 𝟔)𝟓

1(𝒙 + 𝟐𝒚)𝟑

A𝒙𝟑 + 𝟔𝒙𝟐𝒚 + 𝟏𝟐𝒙𝒚𝟐 + 𝟖𝒚

B𝒙𝟐 + 𝟒𝒙𝒚 + 𝟒𝒚𝟐

C𝒙𝟑 + 𝟖𝒚𝟑

D𝒙𝟑 + 𝟒𝒙𝟐𝒚 + 𝟒𝒙𝒚𝟐 + 𝟖𝒚𝟑

2(𝒙 + 𝟑𝒚)𝟒

A𝟏𝟐𝒙𝟑𝒚

B𝟔𝒙𝟐𝒚𝟐

C𝟓𝟒𝒙𝟐𝒚𝟐

D𝟏𝟎𝟖𝒙𝒚𝟑



٦ 
 

6-6

𝟏𝟐 + 𝟐𝟐 + 𝟑𝟐 + ⋯ + 𝒏𝟐 =
𝒏(𝒏 + 𝟏)(𝟐𝒏 + 𝟏)

𝟔
 𝟏 + 𝟐 + 𝟑 + ⋯ + 𝒏 =

𝒏(𝒏 + 𝟏)

𝟐

 

 

𝟕𝒏 − 𝟏𝟔𝒏𝟗𝒏 − 𝟏8 

𝒏

𝟏𝟐 + 𝟐𝟐 + 𝟑𝟐 + ⋯ + 𝒏𝟐 =
𝒏(𝟑𝒏 − 𝟏)

𝟐

𝟏 + 𝟖 + 𝟐𝟕 + ⋯ + 𝒏𝟑 = (𝟐𝒏 + 𝟐)𝟐 

 

 


